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Please make sure that the printed pages in this question paper of Part-IT are 8 in
number and it contains 35 questions.
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Cundidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and

complete guestion paper, no claim in this regard, will be entertained after

examination. _ .
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General Instructions :

i) & wer R 8
All questions are compulsory. ‘
(i) 997 7% 1 @ 35 7% TGS F & I T 1 57 & & FEmgan i #
gure &
Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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) 5628/(Set : C)
R : R e s v (1-18) 7t aifos augay [ AT -

Directions : Select the most appropriate option from those given helow each questio,
(I1to 18):

1. FHRRm CIS R 1
(A) gt & s (B) zﬁqﬂ'vﬂaﬁaﬁﬁ
©) PEF B 4 (D) SR A afe
A ncgatively charged body has in it
(A) Excess of Neutrons (B) Excess of Electrons
(C) Deficiency of Electrons (D) Excess of Protons

o)

2. 2 gF gARE frg-omal, R gR@% 9T 1 pe # oMW 2, # 1 H H T4 W a7

@ I B e Rafeer oo | 1
A) 19 (B) 1 FHEH-aRe
(C) 9x 107 5@ | (D) H

The electric potential energy of a system of two positive point charges of 1 uc
each placed in air 1 metre a partis:

(A) 1 Joule (B) 1 clectron-volt
. (C) 9 x 103Joule (D) Zero
3. 90 9 () T gy e () ¥ e R 3
. . A
(A) j= VulA (B) ==
© j== D) j= 1A
I=3 . J=
The relation between current density (j) and clectric current (1) is :
() j= ValA ® =
€ j== (D) j-1
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(3) 5628/(Set : C)
4. w7 St Sv B A R w ¥, @€ v @deh 30 99T C 9% A9 B 1

C
Iug > 3cV

W/

q et ¥ : . )
(A) =EE (B) =TS
(C) FTAEH (D) ST T & FE e

Energy band of substance. shown in the figure where Vis valence band and C
is conduction band : ' -

IEE>33V
N
Substance is ;

(A) Metal _ | (B) Sern_icond{ictor

(C) Insulator ' (D) None of the above

5. 9 p-n @Y W orERRE aow agugT R o 3, 49 78 1
(A) fawa Jus Tomr ? (B) EHEH® ek HI H I & &
C RmImAFTwIME (D) SR & q H3 6l
When a reverse biased is applied to'a p-n junction, it :
(A) Raises the potential barrier (B) Increascs the majority carrier current
(C) Lowers the potential barrier (D) Nonc of the above

6. a@mmﬁmaﬁﬁawﬁsﬁﬁﬁﬁg«wﬁw-m ¢V 8l 3T IEEq
¥ oo & R st 8¢ 1
(A) —-3.4¢V (B) 6.8 cV
(C) -6.8eV . (D) F1.7¢V

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Potential energy of the electron in this state is :

(A) -3.4¢€V (B) 6.8 cV
(C) —6.8¢eV (D) -1.7 ¢V
5628/(Set : C)/ Il P.T.O. ~
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7. W G R <R de N @ @ AR Ty A 2 e 8, Fed ¥ 1
(A) TR : (B) T
(C) wwwl= (D) IR F B T
Nuclides with same neutron number N but different atomic number % arc
called :
(A) Isobars ~ (B) Isotories
(C) Isotopes (D) None of the above

8. mlgosﬁﬁmﬁmﬁmﬁmﬁﬁgﬁmqﬁa@%ﬁm%@wwq@

Ao w9 F 1 R seafea fear 70 1
(A) Pifcrs - (B) STERIEHA |
(C) T (D) e

In 1905, which scientist proposed a radically new picture of clectromagneceltic
radiation to explain photoelectric effect ? '

(A) Millikan (B) Einstein
(C) Rutherford _ (D) Compton
9. 100 V & Rvaiat & aRa Rl P @ wefta 3-sel aieed & . 1
(A) .1127 nm (B) .1.127 nm
(C) .127 nm (D) .1227 nm

de-Broglie wavelength associated with an’ electron, accclerated ' through a
potential difference of 100 Volt is :

(A) .1127 nm (B) 1.127 nm
(C) .127 nm (D) .1227 nm

10. z 3 R w&@ § BRE & a9ad & TR # R B W Bl & arafds ot o 1
(A) e T R (B) o ¥
(C) weam® (D) =R Yot TR & o ¥

In Young's double slit experiment, the screen is moved away from the planc of
the slits, the actual separation of the Fringes :

(A) remain constant (B) increascs

(C) decreases (D) interference pattern disappcears
5628/(Set : C)/ I
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(5) | 5628/(Set : C)

11. 60° T At B o G swver 3 Rd et Praers @1 30° %1 g Refy  amgewt @
& O BN 1
(A) 30° (B) 45°
(C) 60° (D) 75°
For yellow light incident on a prism of angle 60° the angle of minimum
deviation is 30°. The angle of incidence in this situation is
(A) 30° . (B) 45°
(C) 60° (D) 75°

12. ‘AR § | 9o & SwEm aar R ? L
(A)  STHTT (B) Wradw
(C) femigur | (D) TEi-I<IRG T
Which phenomena is used in "MIRAGE" ?
(A) Interference (B) Reflection
(C) Dispersion (D} Total Internal Reflection

13, q o9 Rl gard 8D 1 4D ¥ 0 ¥ @ ¥ o g wree-gh ¥ 1
(A) S0 ¥ (B) -50 &t
C) 25 & (D) -25 &t

Two lens of power 8D and —4D are placed in contact. F‘_ocal' length of the
combination will be :

(A) 50cm . (B) -50cm

(C) 25cm | . .(D) -25cm

14, WWﬁWW1mﬁsaﬂ%w2aﬂram%lﬁmﬂﬂ

AR fergger ares &< @ ¢ | !
A) 3 @ | (B) 30 A
" (C) 300 A (D) .3 dre

The magnetic flux linked with a coil is decreased from S Weber 1o 2 Weber in
1 second. The induced electromotive force in the coil is :

(A) 3 Volt (B) 30 Volt
(C) 300 Volt (D) .3 Volt
5628/(Set : C)/ Il | ' P.T.O.
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(6) 5628/(Set : C)

15. Tog & % W@ F 6K B @ ¥ A TR T g Fe R 7 e § 7 1
(A) @ H &ET W (B) &% T dfigar W
(C) ¥F 3 ANy U & AR W (D) T & HT W
The magnetic flux threading a wire loop placed in a magnectic ficld docs not
depend upon : ‘
(A) Area of the loop
(B) Magnitude of the field
(C) Orientation of the loop with respect to the field

(D) Shape of the loop

16. W%W%‘Mﬁgwﬁﬁwﬁmwﬁgﬂqﬁmﬁﬁwm%: 1

(A) fgasa Fa&- B) Ry &7 E &
(C) H19 &5 B @l (D) Prgg a1 #
The tangent to the field line at a given point represcnts the dircction of the
net :
(A) Electric Force (F) (B) Electric Ficld (E)
(C) Magnetic Field (B) (D) Electric Current (I)
17. PRl o goed At @ orfieR § WA R S ® 1
(A) TR ¥ I= gy qE q (B) AKX ¥ &g gferdd & &
() A F I=g AR FE | (D) &f ¥ @iy sfdy &= @

Moving coil galvanometer is converted into ammeter by :
(A) Connecting high resistance in parallel

(B) Connecting low resistance in parallel

(C) Connecting high resistance in series

(DI Connecting low resistance in series

16, R 9 ST AR e A A e S T A T A 2 B se T R
. ] 1

BT :
(A) 8R (B) 4R
(C) 12R (D) 16R

The length of a metallic wire of R ohm resistance is stretched four times its
initial length. Its new resistance is :

(A) 8R ' (B) 4R
(C) 12R (D) 16R
5628/(Set : C)/ Il
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(7) 5628/(Set : C)

P : (77 19 & 27) augmr awt @ Raw wrd # gif #fm -

Direction : {Q. No..19 to 27) Ml in the blanks with appropriate answer :

19. U A W .............. A ST BT FTORT R TG A L
Electric field lines start from ............... and end at ncgative charges. .
20.@W@Wﬁm}t%ﬁﬁﬂﬁwmaﬂ% ............ # qREr & w9 H
R F0 1

An important quantity is the mobility ¢ defined as the magnitudc of the
.............. per unit clectric field. https://www.haryanaboard.com

21. Ui @ ffat & Ry W 38 & WAl B 3 L
The ............... inside solenoid becomes everywhere parallel to the axis.
22. THY G54 W AR ¥ & emf I oA, PR &9 @ ol 3 s § ¥ dN

23.

249.

25.

AT § - S, UYET TAT .o | 1

The generation of emf by a solar cell, when light falls on, it is due to the
following three basic processes : generation, scparation and

.............. ? A T TR o e a ¥ 1
In ............., heavy nucleus decays into lighter nucleus.
B g .o B &l 1

wam:gggw%mmmﬁmwmwﬁﬁmm
............ [ 1

The ratio of the sine of the angle of incidence to the sinc of angle of refraction
IS

---------------

26. 107104 aiel # X-RR, 6800A TR & SIS, T 500 A # WA ¢ & ford
............ (ftfes TR) & A T 1
--------------- (Physical quantity) is same for X-rays of wavelength 10" '°m, rcd
light of wavelength 6800A and radio waves of wavelength S00 m.

27, S R TE S VA . . R 1
SI unit of coefficient of mutual inductance is .......ccoevveen
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(8) 5628/(Set : C)

R : (797 28 & 35) Frafore wodt & aut o o=y g F A -

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29,

30.

31.

32.

34.

35.

U SEEeE G B WET Sx 102803 qur Ber & 8x10'3 ¥ 0 Y, adere
p-T13Y &R ST¥ET n-eRy ? 1
In a semiconductor, the concentration of clectrons is 5x10"2¢m 3 and that of
holes is 8x1013ecm-3. Is it a p-Lype or n-typc semiconductor ?

BRI T @ AT Ao ¥ RE B e D e, b dad & B
Recelt B 7

The radius of the first electron-orbit in hydrogen atom of Bohr model is 7,

What will be the radius of the third orbit.

TIM AW § §9F qURe # & Gy a8 g @ ot & ofomh @ @ aam
AT FA & fog T F Sy s R g ? | 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves so that amplitude of the resultant
wave will be minimum.

R Hg F UHT H A, TFT D TR AR FAN Y ? (& ar 78 ) 1
Is the speed of light in glass independent of the colour of light ? (Yes or No)

FWHW@WW@QF{&WWW@w%Mi‘@&@TWTW
el q T 7 1

An object is p]aced at a distance of 2 F from a convex lens of focal length F.
Where should image of object formed on the other sidc of lens.

gt 3 e e (FRE) W TH F7 F 9 R 8 @ 2 1
What is the value of angle of dip at the Earth's magnctic cquator ?

& e gy Aofeee & 93 81 R Rl @ wmm d 1
Two unequal resistance are connected in series. What is same for them ?
gqrgell ¥ gRegl & anfeaa 9T A9 & geT H T IE Tear § 7 1

What is the effect on relaxation time of clectrons in mctals, with decreasce in
temperature ?
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